11
Third MATH 4512 mid-term exam: Nov. 23, 2015 NAME:

} . Find e4t,

The e =L D=2 oud Oy
The Wneopending eigemne dgn ane vr=[§),wz=&§]

(Each problem is 4 points)
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1. Find the general solution of %w = Az where A= {
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2. Find the general solution of —:L' = Az where A = {
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3. Find the general solution of 5% = Az where A = [1

—(-)1]. Provide a plot

of the solutions.
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4. Find e?t where 4 = {—i ;]

Hint: Solve the problem gtm = Az.
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5. Find the solution of %m — Az +J(t) and 2(0) = 0, where A = [_2 4} i

ft) = [[1)} Hint: Find et by using the results in the previous problem.
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